



$$\left\{ \begin{array}{l} L \frac{d}{dt} (i_c + i_R) + V_c = V_m \text{ (used);} \\ V_c = V_R = R i_R \Rightarrow \boxed{i_R = \frac{V_c}{R}} \end{array} \right. \quad i_L = i_c + i_R$$

$$i_c = \frac{dq_c}{dt}$$

$$V_c = \psi(q_c)$$

$$L \frac{d}{dt} \left( \frac{dq_c}{dt} + \frac{\psi(q_c)}{R} \right) + V_c = V_m$$

$$\boxed{L \frac{d^2 q_c}{dt^2} + \frac{1}{R} \frac{d\psi(q_c)}{dt} + \psi(q_c) = V_m(t)}$$

From here,  $q_c(t)$  should be found,  
and then  $V_c(t) = \psi(q_c(t))$ , which  
is  $V_{out}(t)$ .

Emanuel. Gluskin

11/11/17